ZEEM

REHFRVAEYEFORAFRHEEZEERDEEHER (ZEFH)
(R HF]
(1 URFEHF
(BT 1 %)
i BT | dE(R) e BATH
A | QTR 1E0JE 2$I b5
R A M ONERE 7E | 0.733 0.900 0.106 0.100 122.8
] ] AR TS A — % 7E | 6.900 6.760 3.569 1.605 98.0
AL DI IR FrEfGlR 8%l 0.920 0.665 — — 72.3
Mtk AT 7 A 9| — 2.380 0.746 0.155 —
kiﬂlf\ 9%Fl| 3.908 3.912 2.477 1.677 100.1
AR GRS — i 7E | 4.893 4.816 1.328 0.659 98.4
i SKEEILA 9%F|| 9.336 8.732 5.833 4.023 93.5
T R B -1 Ll & — % 7HI| 8.532 8.693 4.657 2.103 101.9
kiﬂlf\ﬂz - 9? 7.900 8.000 6.031 4.392 101.3
e AR PR S X 7EI 7.929 7.724 3.613 1.784 97.4
FREDAED g n oFE|| 8.483 | 8331 | 5627 | 3.587 98.2
TR A — W% 7E|| 5.014 6.275 4.252 3.449 125.1
HaAER (TR A AT 7EI| 5.527 6.517 3.955 3.170 117.9
FrE SR 8%l 2.292 2.849 — — 124.3
DAZ WA T v 7 A 9F| — 1.240 0.390 0.202 —
PR A — i 6% | 2.800 2.600 — — 92.9
it =] Mt |JRUDGRR & A 6%  4.688 4.631 — — 98.8
f%ﬂdlﬁsa 7TE| 2.341 2.582 — — 110.3
e N T 7E| | 3.945 4.327 3.059 2.311 109.7
PR A — ﬁx 7E]|  3.512 3.538 1.744 0.968 100.7
HaAER (TR A AT 7EI 2.612 2.904 1.410 0.655 111.2
f%ﬁéfﬁl@ 8El| 1.071 1.037 — — 96.8
HE9 WAL T I A 9| — 0.802 0.108 0.024 —
NEITON 9%l | 2.663 2.249 1.068 0.569 84.5
TR A — % 6% 2.182 2.025 — — 92.8
B o] 0 | ISR B L A 6% | 1.773 1.945 — — 109.7
%mfﬂ@a 7E]| 0.866 1.090 — — 125.9
FAR% JHZLIR&UEF‘D%T 7E | 4.618 5.229 2.793 1.576 113.2
TR B — % 7E | 5.135 6.378 4.305 2.915 124.2
AR (TR R /A\/\ e 7E| | 5.391 5.303 3.157 1.838 98.4
%mfﬂ@a 8| 6.131 6.208 — — 101.3
7L Ml AT 7 A 9| — 2.001 0.652 0.179 —
FEEIA 9kl | 4.491 3.920 2.403 1.460 87.3
PR A — i 6% | 12.200 | 10.300 — — 84.4
T 5] A | DRSS B A 6% | 3.542 3.479 — — 98.2
FrEfGRR 7E | 4.514 3.949 — — 87.5
TR B — i 7E|  5.875 5.923 3.174 1.539 100.8
SRR TR HS & B AT TE| | 4.554 5.109 2.603 1.236 112.2
e E SR SE|| 2.268 2.216 — — 97.7
HH Hilik AT w72 9E| — 2.471 0.796 0.019 —
FEEIA 9%l |  4.002 4.724 3.436 2.627 118.0
e [T & AT 6% | 1.464 2.130 — — 145.5
Ml i %mﬁl@a 7E| 1.029 1.122 — — 109.0
AR AN ’f}fi 7E|] 8.000 | 12.700 8.241 5.297 158.8
5515 B & AR 7| 11.381 | 10.800 6.559 3.881 94.9
kA7 Mx 9| — 2.400 1.036 0.020 —
Fit e b [ e & 6EI|  6.900 6.300 — — 91.3




(HANT: %)

| BT o (g . FH 4T
Fe AT e (% TEE A AT EE
_ \ Bl | Craegoe) LEIE | 2Flj
RN DN 7E]| 14.748 15.710 11.470 8.058 106.5
. e [TBUDRS B — 7% 8.800 | 12.600 8.663 5.693 143.2
CkE AR e i 8E|  6.500 | 6.800 — — 104.6
Hilik A5 7 A 9| — 13.155 8.815 6.040 —
AR DN 7E]|  5.689 5.440 3.382 2.077 95.6
TS S — % 7EI| 6.678 6.590 3.707 1.988 98.7
FR R | PSR B A 7EI 7.067 7.859 4.819 3.021 111.2
FrESaR 8E|| 2.486 2.342 — — 94.2
ME Witk AT v A 9| — 3.168 1.728 0.974 —
SEEIA 9% | 5.441 5.206 3.586 2.378 95.7
TR A — % 6% | 5.381 5.087 — — 94.5
Fof [ Mt TR R B B A 6| 3.000 2.400 — — 80.0
FrESER 7E| 2.450 2.686 — — 109.6
RN N NV E 7E[ ] 13.890 14.619 11.446 9.728 105.2
e AL {Billzf“é:*ﬂﬁ 7|  8.775 9.127 4.641 2.536 104.0
<h FrEfahR 8[| 1.700 1.400 — — 82.4
Bk AL T o7 A 9l — 6.998 4.453 2.776 —
*ﬁi&lﬁéfﬁiﬁ 7%& 2.125 2.370 — — 111.5
RN DN 7EI] 8.246 | 11.700 8.453 5.651 141.9
R [ £ —fi% 7H[| 8187 | 8922 5964  3.616 | 109.0
L Wil AT v 7 A 9| — 4.473 1.708 0.278 —
%%M{\ 9% 9.100 | 13.500 10.304 7.685 148.4
ot [ 40 | PR B — R 6% |  7.400 8.200 — — 110.8
BRI N VR E 7EI] 29.700 | 33.400 = 29.472 | 26.591 112.5
AR TS & — % 7% 10.081 9.613 6.274 3.632 95.4
TR i £ L 7%|| 10.500 | 11.700  6.801  4.118 | 111.4
THh Witk AT 7 A 9 — 5.107 2.737 1.285 —
SEEIUA 9%|| 6.657 6.900 4.857 3.423 103.7
o | TRISURR A S AE 6E||  7.454 7.100 — — 95.3
TR | L
FrEfalR 7E]|  5.479 4.537 — — 82.8
i‘*a%iﬁ‘zﬂy&(ﬂﬁu%ﬁ 7E]] 3.904 3.520 1.835 1.018 90.2
o PR G & — % 7EI 4.799 4.927 2.541 1.323 102.7
)L —
XUATN—Y Rtk AL T 7 A 9| — 2.568 1.323 0.477 —
SEEIA 9% | 4.667 4.653 2.966 1.760 99.7
o o | AR N DN 7E]| 1.250 1.250 0.158 0.020 100.0
-~ l/ a Y = = . . . . .
AT TN o R B[ — 1.800 ___0.463 ___0.020 —
(2) BHA £ F
(BT %)
AT s L
BT i (22) AT
QTEESIE)
AL PI IR 0.278 0.242 87.1
YVt 1.322 1.226 92.7
5EH 0.943 0.917 97.2
L 0.656 0.705 107.5
£3Ya) 3.300 4.000 121.2
¥5E9 1.570 1.600 101.9
Kb 1.400 1.400 100.0
INE 0.207 0.202 97.6
XUAT7)L— 0.672 2.468 367.3




(MBEMHFE]

(HA7: %)

— BT WE (R) ™ HATH
e fHEEIA
A QUEELE) 1E 2ENR
. AR oFl| 3.134 3.431 1.694 0.906 109.5
1Lk :
Wl A T A 9E| — 1.387 0.308 0.081 —
ERViER 9%|| 8.601 8.855 5.993 3.977 103.0
*g SRS 8%El| 6.536 5.397 3.229 2.016 82.6
ISA
Mtk AT A 9F — 5.392 2.849 1.426 —
—% 7E| 6.442 6.882 — — 109.9
AR SE| — 6.899 5.063 3.553 -
INEL AR 7EIl  6.918 6.924 5.085 3.570 100.1
Mtk AT A 9F — 5.452 3.102 2.026 —
ERViER SE — 9.787 7.787 6.044 —
WAT A A% 7E 9.200 11.898 9.730 7.806 129.3
Mtk AT A 9F — 9.446 7.633 5.622 —
- £ 9%l 3.800 4.161 2.429 1.368 109.5
Mtk AT A 9F — 1.631 0.545 0.156 —
B X 8%|| 6.521 6.069 3.314 1.558 93.1
SEHEV :
il AT A 9E| — 3.931 1.384 0.305 —
R 7E 5.039 5.148 3.453 2.251 102.2
oy Mtk AT A 9F — 0.694 0.473 0.312 —
PIEIPN S8E|| 4.484 4.417 2.107 1.029 98.5
- ERViER 8%l 9.411 10.401 7.172 4.747 110.5
Mtk AT A 9F — 10.785 7.082 4.305 —
ERViER 8E|| 4.707 6.247 4.031 2.582 132.7
A —ha— g
AT A 9E| — 2.246 1.440 0.832 —
R EEE 8%|| 4.700 5.167 3.018 1.879 109.9
FERE \
M AT A 9F| — 2.451 1.125 0.495 —
) AR 8% 7.499 8.398 5.624 3.593 112.0
NEES i
iAo TR 9E| — 2.188 0.855 0.375 —
Ry | AR 8E| 3.385 3.942 2.403 1.487 116.5
] ERViER 8E|| 1.415 1.391 0.950 0.681 98.3




	P1
	P2
	P3

